
 

 

 

 

 

Class-01 

 

Type :- 1 (Row/Line Based) 
 

1. Five schools A, B, C, D and E whose face is towards 

north. A is between E and B while E is the right to the 

D. D and C are at the ends. Who is left to the C ? 

Ikk¡p fo|ky; A,B,C,D rFkk E ds eqa[k mÙkj dh fn”kk esa 

gSA A, E RkFkk B ds e/; esa gS tcfd E, D ds nkW;h vksj 

gSA D vkSj C iafDr ds vUr esa gSA C ds ckW;h vksj dkSu 

lk fo|ky; gS \ 

(a) D (b) A 

(c) E (d) B 

 

 

 

 

 

 

 

 

 

 

 

SITTING ARRANGEMENT 



 

 

2. While the group photo of a family was taken the father 

was found to be sitting to the left of the son and right 

to the grandfather. Mother was sitting to the right of 

her daughter but left to the grand father. Who is 

occupying the central place ? 

Tkc fdlh ifjokj dk ,d la;qDr QksVks fy;k tkrk gS 

rks ik;k tkrk gS fd firk] iq= ds ckW;h vksj cSBk gS rFkk 

nknk th ds nkW;h vksj gSA ekrk] iq=h ds nkW;h vksj cSBh 

gSA fdUrq nknkth ds ckW;h vksj gSA QksVks esa fcYdqy e/; 

esa dkSu cSBk gS \ 

(a) iq=     (b) nknkth 

(c) firk    (d) ekrk 

 

 

 

 

 

 

3. In a restaurant five guests sitting in a row. Nita is left 

to the Manju and right to the Navin, Rishav is right to 

the Kavita and left to the Navin, where is Navin sitting. 

fdlh jsLVksjsaV esa ik¡p vfrfFk ,d iafDr esa cSBs gSA uhrk] 

eatw ds ckW;h vksj gS rFkk uohu ds nkW;h vksj gSA fj”ko] 

dfork ds nka;s rFkk uohu ds cka;s cSBk gS] rks uohu 

dgk cSBk gS \ 

(a) nkW, fljs ls (b) e/; 

(c) ckW, fljs ls     (d) nkW, ls nwljk 

 

 

 

 



 

 

4. Sir students A, B, C, D, E and F standing in a line. B is 

between E and D. E is between A and C. A is not 

standing beside F and D, C is not standing beside D. F 

is sitting between. 

N% fo|kFkhZ A, B, C, D, E, rFkk F ,d iafDr esa [kM+s gSA 

B, F rFkk D ds e/; esa gSA E, A rFkk C ds e/; esa gSA 

A, F rFkk D ds cxy es ugha [kM+k gSA C, D ds cxy esa 

ugha [kM+k gSA F fduds e/; [kM+k gS\ 

(a) C vkSj F      (b) B vkSj D 

(c) C vkSj B      (d) buesa ls dksbZ ugha 

 

 

 

 

 

 

 

5. Five students are sitting in a row. T is on the right of 

Z, M is on the left of Z but M is on the right of L, T is 

on the left of Q who is sitting first from the left ? 

Ikk¡p Nk= ,d iafDr esa cSBs gSA T, Z ds nk;sa gSA M,  Z  

ds ckW;h vksj gS fdUrq M, L ds nkW;h vksj gSA T, Q ds 

ckW;h vksj gSA ckW;s ls igyk dkSu gS\ 

(a) Z (b) Q 

(c) T (d) L 

 

 

 

 

 



 

 

6. Five birds are sitting on a tree. The Pigeon is to the 

right of the Parrot. The Sparrow is above the Parrot. 

The Crow is next to the Pigeon. The Crane is below the 

Crow. Which bird is at the centre ? 

Ikk¡p i{kh ,d isM+ ij cSBs gSA dcwrj] rksrs ds nkW;h vksj 

gSA xkSjs;k] rksrs ls Åij gSA dkSvk] dcwrj ls vxyk gS 

lkjl] dkSa,s ls uhps gSA dkSu lk i{kh fcYdqy e/; esa gS 

\ 

(a) dkSvk (b) dcwrj 

(c) rksrk      (d) xkSjs;k 

 

 

 

 

Type :- 2 (Direction Change Sitting) 
 

1. A, B, C, D, E, F and G sitting on a bench facing East. 

C is immediate right of D. B is sitting on any end and 

E is neighbor of G. G is between E and F. D is 3
rd

 to 

the south where is D sitting. 

A, B, C, D, E, F vkSj G csUPk ij ewjc fn”kk esa eqa[k djds 

cSBs gSA C, D ds rqjUr nkW;h vksj gSA A vkSj B, fdlh 

vafre Nksj ij cSBk gS rFkk A, E dk iM+kslh gSA G, E 

rFkk F ds e/; esa gSA D, nf{k.k fn”kk ls rhljs LFkku ij 

gSA rks D dgk cSBk gS\ 

(a) C vkSj F      (b) G vkSj C 

(c) A vkSj E      (d) buesa ls dksbZ ugha 

 



 

 

2. Six friends A, B, C, D, E and F are sitting in a row 

facing East. C is between A and E. B is just to the right 

of E but left of D, F is not at the right end. Who is at 

the right end? 

N% fe= A, B, C, D, E rFkk F ,d iafDr esa iwjc dh vksj 

eq[k djds cSBs gSA C, A o E ds e/; gSA B, E ds rqjUr 

nkW;k gS fdUrq D ds cka;s gSA F, nkW;s Nksj ls var esa ugha 

cSBk gSA rks nka, Nksj ij dkSu cSBk gS \ 

(a) D    (b) B 

(c) E    (d) C 

 

 

 

 

 

 

 

3. Six Friends A, B, C, D, E and F are sitting in a row 

facing East. ‘C’ is between ‘A’ and ‘E’, ‘B’ is just to 

the right of ‘E’ but left of ‘D’, ‘F’ is not at the right 

end. Who is between ‘B’ and ‘C’? 

N% fe= A, B, C, A, E rFkk F ,d iafDr esa iwjc dh vksj 

ew[k djds cSBs gSA C, A o E ds e/; gSA B, E ds rqjUr 

nkW;k gS fdUrq D ds ck;s gSA F, nk;s Nksj ls var esa ugha 

cSBk gSA rks B rFkk C ds e/; esa dkSu gS \ 

(a) A     (b) D 

(c) E     (d) F 

 

 

 

 



 

 

4. Five friends are sitting in a row facing south. Here 

Mohan is between Balu and Raju. Raju is to the 

immediate right of Praveen. Amit is to the right of 

Balu. Who is in extreme right end ? 

Ikk¡p fe= nf{k.k dh vksj eq[k djds cSBs gSA ;gka eksgu] 

ckyw o jktw ds chp esa gS rFkk jktw izoh.k ds rqjUr nkW;k 

gS rFkk vfer] ckyw ds nka;s gSA rks nk;sa Nksj ls var esa 

dkSu cSBk gS \ 

(a) vfer    (b) ckyw 

(c) izoh.k    (d) eksgu 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

5. Five friends are sitting in a raw and all of them facing 

towards South but not in same order. B is in between 

A and E.  C is immediate right of C and D is 

immediate left of A. Which statement is true? 

Ikk¡p fe= A, B, C, D rFkk E ,d iafDr esa [kM+s gS rFkk 

lHkh dk eq[k nf{k.k dh vksj gSA bu lHkh dk Øe 

fuf”pr ugha gSA A rFkk E ds e/; dsoy B gSA C, E ds 

rqjar nka;h vksj gS rFkk D, A ds rqjUr ck;h vksj gSA 

buesa ls dkSu lk dFku fuf”pr :Ik ls lR; gS\ 

(a) B is left of A 

 B, A ds ck;h vksj gSA 

(b) D is 3
rd

 to the left of E 

 D, E ds ck;sa rhljk gSA 

(c)  B is to the right of E 

 B, E ds nka;h vksj gSA 

(d)  A is 3
rd

 to the left of B 

 A, B ds ck;s rhljk gS 

 


